		<i>F</i>					
Compa	any Name:	MHPL-SOV			-		
Project:		Silver Oak Villas -3			<del></del>	+	
	Description:	Removeing of labour quarters sheads			-		
	of the Contractor	Duguru Ramulu			-		
Prepare		Kiran kumar.j		<b></b>			
Date:		09-05-2024			-		
				TT. '4-	Data	Amount	Item Head Total
S No.	Item Head	Item Description	Quantity	Units	Rate		Item Hour 19th
1	Removeing of labour quartes sheads	Small sheads	9,500.00	Sft	2.00	19,000.00	
		Large sheads		1			
						Total amount	19,000.00
					1		
		Total Amount: Nineteen thousand rupe	es				
			,	'			
						u/	ay
						IE	2 V \

APPROVED BY

10 MAY 2024

SOHAM MODI

#### Anx-B.xlsx

									1451	
Company	MHPL SOV	MHPL SOV		Duguru.Ramulu		Sl. No. site bills reg.				
Project/si		SOV_III		fabrication work		Dt. site bills reg.			09-12-2024	
Block no				25-10-2024		M-codex bill ID.				
WO no.	NA	7	Work done to date	02-12-2024		WO issued?			NA	
WO date	NA		Contractor bill no.			GST bill required?			NA	
SI. No			Details of work		Qty	Units	Rate ID	Rate	Amount	
1	Old Labour quoters	Shed ren	noving		3,200.00	Sft		2.00	6,400	
2	Old Edition Quoters		sheets removing		960.00	Sft		2.00	1,920	
3	New Labour quoters	Shed Fitt			1,680.00	Sft	MSF144	7.00	11,760	
4	The Michigan Australia		partitions fitting		800.00	Sft	MSF144	7.00	5,600	
5		7 67 17 647	<u> </u>		-					
6										
7										
8										
9										
10										
								Total	25,680	
							Add GST @	0.00%	25,000	
					Tota	l amount inclu			25.690	
Remarks	PP Rate Jenot given attached M	D's approved	copv		Tota	amount metu	iding taxes for	work done	25,680	
			Approved by QS team			Approved by Director/E&D team				
Sign:			Sign:				Sign:			
Date:	K. PUSSHOTHAM	Date:			Date:					
	K. PUSSMULIAM					Date.			1	

Notes the This selfer have the fall stallation report and advice for credit to contractors. 2. This word form must be typed. 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only if required i.e., details cannot be entered above. 5. For bill amount greater than 10k QS manager and directors approval is required. 6. For bill amount less than 10k any QS team member may sign and in place of director sign of respective E&D member to be taken. 7. Director include – Soham, Anand Mehta (for GHT + GMR), Sachin (for Vivopolis), B. anand Kumar (for NGH + NRK). 8. Entry of rate ID is mandatory. 9. This sheet must be sent within 2 working

ESTIMATE SHEET							
Company Name:		MHPLSOV					
Project	:	Silver Oak Villas-III					
Work I	Description:	fabrication work					
Name o	of the Contractor	Duguru Ramulu					
Prepare	ed By	K.Tulasi rani				,	
Date:		03-12-2024					
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total
1	Old Labour quoters	Shed removing	3,200.0	Sft	2.00	6,400	
		partition sheets removing	960.00	Sft	2.00	1,920	
2	New Labour quoters	Shed Fitting	1,680.00	Sft	7.0	11,760	
		Vertical partitions	800.00	Sft	7.0	5,600	
						Amount	25,680.00
		Total Amount in w	ords: Twenty Fiv	e Thousar	nd Six Hundr	ed Eighty Rup	ees Only



								T SHEET	REMEN
		d by:	Approved by:				MHPLSOV	npany Name:	
			Sign:				Silver Oak Villas-III		Project:
	_						fabrication work	ption:	( Descri
							Duguru Ramulu	Name	tractor N
							K.Tulasi rani	Ву	epared l
							03-12-2024		Date:
em Head Total	Units	Quantity	Nos.	Height	Width	Length	Item Description	Item Head	S No.
	Sft	3,200.00	2.00	20.00	1.00	80.00	Shed removing	Old Labour quoters	1
	Sft	960.00	32.00	3.00	1.00	10.00	partition sheets removing	•	
4,160.00									
	Sft	1,680.00	2.00	20.00	1.00	42.00	Shed Fitting	New Labour quoters	2
	Sft	800.00	8.00	10.00	1.00	10.00	Vertical partitions		
2,480.00									
_		300.00	3.00	13.00	1.00	10.00	· · · · · · · · · · · · · · · · · · ·		

# **Bill for Labour Charges**

## Duguru Ramulu

Chinna Cherlapally

Date:09-12-24

In favor of:

MHPL SOV

Project / Site:

Silver Oak Villas-III

Location:

Cherlapally

Type of Work:

Welding work

Towards:

Labour Charges

S No.	Description	Amount
1.	Brief description of work done:	
	Towards labour quoters sheds laying and dismantle work	Rs.10,272/-
	Total Amount:-25,680/	
	Work Done from date: 25-10-24 to date: -02-12-2024	

Amount in words: Ten Thousand Two Hundred and Seventy Two Rupees Only/-

Sign:	
Dign.	

#### **Bill for Allowance for Consumables**

# D.Ramulu China Cherlapalli

Date:09-12-2024

In favor of:

MHPL SOV

Project / Site:

Silver Oak Villas -III

Location:

Cherlapally

Type of Work:

Welding Work

Towards:

Allowance Equipment

S No.	Description	Amount
1.	Brief description of work done:	
	Towards labour quoters sheds laying and dismantle work	Rs.7,704/-
	Total Amount:-25,680/	
	Work Done from date: 25-10-24 to date: -02-12-2024	

Amount in words: Seven Thousand Seven Hundred and Four Rupees Only/-

Sign: \_\_\_\_\_

# Bill for Allowance for Equipment

## D.Ramulu China Cherlapalli

## Duguru Ramulu

Chinna Cherlapally

Date:09-12-24

In favor of:

MHPL SOV

Project / Site:

Silver Oak Villas-III

Location:

Cherlapally

Type of Work:

Welding work

Towards:

Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards labour quoters sheds laying and dismantle work  Total Amount:-25,680/  Work Done from date: 25-10-24 to date:-02-12-2024	Rs.7,704/-

Amount in words: Seven Thousand Seven Hundred and Four Rupees Only/-

Sign:	